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L HSIELEE-E
Hu: DY BFIM D
ool BEIM B 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSENBIIsLEE A3 ALHHIXH
185,000, 000 185,000
03 BIAHMNHE2IHIEE 268,800 226,099 42,701
OsENSIsLdEgds 2HHXR
268,800, 000 268,800
AEstzusdy 29 550,000 460,000 90,000
= 150,000
< 400,000
207 A O &l 50,000 0 50,000
01 2289 50,000 0 50,000
OM3X SZuNESEHE =8 50,000, 000 50,000
307 glz2tol & 300,000 300,000 0
= 150,000
< 150,000
02 HAFHAANHEEE 300,000 300,000 0
OXdstzdusde X (2d) 300,000, 000 300,000
= 150,000
< 150,000
308 MtXIEHMSOIH 200,000 160,000 40,000
01 HXNHHBHEELS 200,000 160,000 40,000
OXNGsdusdy XA (10JH4) 200,000,000 200,000
JI=HstusdH 29X 70,000 70,000 0
= 35,000
< 35,000
308 X EHSOIA 70,000 70,000 0
= 35,000
< 35,000
01 HIXNHHBENEES 70,000 70,000 0
OJI=HatuN|HE 2 XA 70,000,000 70,000
= 35,000
< 35,000
ROt &3dus T2y 29 45,000 75,000 230,000
308 XXIEHH SOl A 45,000 75,000 230,000
01 AXHHBLEES 45,000 75,000 230,000
OX0tote sdus Z20d8 29
45,000,000 45,000
JIZRe A 2,220,112 1,618,829 601,283
= 954,305
< 1,265,807
Jl=ds e & AHE 2,220,112 1,618,829 601,283
= 954,305
= 1,265,807
HIAHEE AISE 24tA MHASE(Z) 72,000 36,000 36,000
= 36,000




SN JBEYZHDY
Hm: J|=HE UEA
ool JlBHE (S 2 NS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 36,000
307 2iz2to| A 72,000 36,000 36,000
= 36,000
= 36,000
02 QIZFA AAIE E X 72,000 36,000 36,000
OHIALER2 AT 2AIJFA KRSUAHE(E)
72,000,000 72,000
= 36,000
& 36,000
HAUAER AFLZE S2AIJIA RHHSE (A2H A 128,700 128,700 0
= 99,000
= 29,700
308 XHXIEHSOIA 128,700 128,700 0
= 99,000
= 29,700
01 AIXSHMEMNEX= 128,700 128,700 0
OHIATER2 AT 2AIJFA KA EE (A2
) 128,700,000 128,700
= 99,000
= 29,700
EFATZOIERN Il QIMEIE X3 209,300 231,400 A 22,100
= 161,000
== 48,300
308 XAHXIEHSOIA 209,300 231,400 A 22,100
= 161,000
== 48,300
01 AIXSHMEMNEX= 209,300 231,400 A 22,100
OEAIZQEN JIYIIF ClHEE X3
209,300,000 209,300
= 161,000
& 48,300
JZEHSG ZHIIF A3 26,000 25,000 1,000
310 =22/ 0| & 26,000 25,000 1,000
02 =HEE23 26,000 25,000 1,000
OAEHE (Under 2 Coalition)® g ™3lH|
26,000,000 26,000
Aol JE8HARAL EHZ 313,469 330,000 AN 16,531
306 =32 313,469 330,000 A 16,531
01 =92 313,469 330,000 AN 16,531
OMBliCHIIZE&HARTL SAHS 313,469,000 313,469
EME JIEYHE s =X 140,000 180,000 A 40,000
308 AHXIEHSOIA 140,000 180,000 A 40,000
11 BI2SUHUSHEAEAE A Y| 140,000 180,000 A 40,000




L HSIELEE-E
Hm: J|=HE UEA
Sl DSBS (S ¥ XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE4AE J22J e = MAH A Nz
140,000, 000 140,000
JI=8st HE lUX 32 &4 36,338 42,750 AB,412
403 UHXSHHSA=0l& 36,338 42,750 AB,412
01 X ESHMA=LE L 36,338 42,750 AB,412
OJI&ds B8 HUX 2 =4 At (ol &H&
Z) 36,338,000 36,338
JI=dsis 88 29,750 50,000 220,250
201 Let24d] 29,750 50,000 220,250
01 At 2teltl 29,750 50,000 A 20,250
OJIzdsilig 82 S(MaEZ) 29,750,000 29,750
Jl=dst g =4 17,000 10,000 7,000
201 £B-2dH| 17,000 10,000 7,000
01 At 22l 17,000 10,000 7,000
OJIzds tHed? =X (MaE2)
17,000, 000 17,000
MBIz SRMH |X E= 10,000 10,000 0
401 AIEHI L 2 0] 10,000 10,000 0
01 A& Hl 10,000 10,000 0
OFFI=3R4dH RA E= 10,000, 000 10,000
NEI)=s B2 ¢ U= 21,250 30,000 A8,750
307 gl2tol & 21,250 30,000 A8,750
02 IZHEHAHE L 21,250 0 21,250
OXAIIz 22 ¢ ns(0aEL)
21,250,000 21,250
s EAZQERN 2 8,305 4,500 3,805
= 8,305
308 A EHHSOIA 8,305 4,500 3,805
= 8,305
01 HXNHHBHELS 8,305 4,500 3,805
OXNSx HALZOERHN 29 8,305,000 8,305
= 8,305
Moo= sdHd2A SEEOIS BEd AREA 70,000 0 70,000
207 O] 70,000 0 70,000
01 289 70,000 0 70,000
OMdlieH|ZstZ 24 SEEols Bty o
= 70,000, 000 70,000
M3x JI=dst ¥2 HE =8 228 150,000 0 150,000
207 & O &l 150,000 0 150,000
01 2284 150,000 0 150,000




L HSIELEE-E
Hu: J|sus (MR
S SN (S ¥ NS o EA)
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
ORM3xt J=8st B3 Ha =8 HI2H
150,000, 000 150,000
ZZ 0 OIASX MH2ZAE 222 &1 80,000 0 80,000
403 UHXSHHSA=0l& 80,000 0 80,000
01 X ESHMA=LE L 80,000 0 80,000
OZ Ul OIMEX H2Ad 22x0(co
o) 80,000,000 80,000
2050 JI= RIS JI2HE =8 180,000 0 180,000
= 90,000
< 90,000
207 A RO 180,000 0 180,000
= 90,000
< 90,000
01 2284 180,000 0 180,000
02050 JI=H3HE JI=2HE =8
180,000,000 180,000
= 90,000
< 90,000
Jl=dst HAANSE XN 728,000 0 728,000
= 560,000
= 168,000
403 A X EHHS =0l A 728,000 0 728,000
= 560,000
< 168,000
01 X EHHMA=LE XL 728,000 0 728,000
OJIZ8sat HAAHNE XNJ A 728,000,000 728,000
= 560,000
< 168,000
gEd 25 12,884,468 9,211,464 3,673,004
= 1,270,000
& 11,614,468
oAgd B 12,884,468 9,211,464 3,673,004
= 1,270,000
< 11,614,468
MERH MBI A X = H H < 411,400 524,332 A 112,932
= 242,000
< 169,400
308 AAIEHHSOIA 411,400 524,332 A 112,932
= 242,000
< 169,400
01 HXNHHBHELS 411,400 524,332 A 112,932
OHMEHAMEIATIZEMAHAS S EMAHAX
23 411,400,000 411,400
=2 242,000
< 169,400

(&)




SN JBEYZHDY
dM: GAHEE 25
Sel: KelEE 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ori== IoHOE ALY 458,300 336,600 121,700
=2 240,000
< 218,300
403 UHXISHHSA=0l& 458,300 336,600 121,700
= 240,000
< 218,300
01 HXESHMA=LE L 458,300 336,600 121,700
OtMESEZ 28t sIlol HEAIE EXAS
312,000, 000 312,000
= 240,000
< 72,000
OOtMEE 22X % EIX AAY AXIA(
SOEN) 146,300,000 146,300
ANASAEAN - 0|SAE ZH(0lAG A (HEALY) 3,549,000 793,000 2,756,000
403 A X EHHSH=0IA 3,549,000 793,000 2,756,000
01 X HHMA=LE L 3,549,000 793,000 2,756,000
OHMCEHIE MEf2ZE L 0IEAE &X
3,549,000, 000 3,549,000
S OldESE2 2 acHH 28 N 606,667 560,000 46,667
= 182,000
= 424,667
307 21201 A 606,667 560,000 46,667
= 182,000
< 424,667
02 IS AT EL 606,667 560,000 46,667
Osd 29 ords=72dH 28 N
606,667,000 606,667
= 182,000
< 424,667
AAMEHH R ANHSR Ot E 2522 8,500 9,842 A1,342
307 21201 A 8,500 9,842 A 1,342
02 LB AAFEX 8,500 9,842 A1,342
OOfMME BEs8s U2HH XA (0AEZ)
8,500,000 8,500
tes=2 EsMg X3 104,210 131,240 A 27,030
308 XXM SOIA 104,210 131,240 A 27,030
01 AXHHBISEES 104,210 131,240 A 27,030
ORMNOIMsS==2 28 =&= Ol 24
27,000,000 27,000
O0fd= 253 BHX 11,600, 000 11,600
ORMMESE Az L 0l&(0azE2)
5,610,000 5,610
ORdiotMEs TmatZZHM(IITHM) K& AL
60,000,000 60,000




L HSIELEE-E
dM: GAHEE 25
Sel: KelEE 25 (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
MEH=0IE ZH(MEAY) 757,500 454,500 303,000
403 XXM S X201 757,500 454,500 303,000
01 XM= E L 757,500 454,500 303,000
OMEl=0lH (MENMES2F) =4 757,500,000 757,500
AHSHEH 23 XA 7,650 8,100 A 450
307 glz2tol & 7,650 8,100 A 450
02 LIt HAMHEE 7,650 8,100 A 450
OXcetd Es&8s Q2HehHl XA (0l &HE
2) 7,650,000 7,650
ME22XE X8 € s4 86,000 160,000 A 74,000
= 86,000
308 XXM S0 A 86,000 160,000 A 74,000
= 86,000
01 AXNSGHBLEES 86,000 160,000 A 74,000
OgtZds MEj2ZXY XNE -4 86,000,000 86,000
= 86,000
MEHHAMHI AAY F=A 16,830 19,950 A3,120
308 XXM S0l A 16,830 19,950 A3,120
01 IXNHHBNEES 16,830 19,950 A3,120
OMENHAMEIA KIJAAMY Z=X (0 &HE2)
16,830, 000 16,830
MEHAX 206 B2 20,000 18,000 2,000
201 £e-2gH| 20,000 18,000 2,000
01 At 22l 20,000 18,000 2,000
O+ MHOHAX 2068 EE 20,000, 000 20,000
ANASHAEA - 01SAE ZH (M HH)(MAIY) 5,150,340 5,000,000 150,340
403 MtXISHHE X201 & 5,150,340 5,000,000 150,340
01 XM A=2EE 5,150,340 5,000,000 150,340
O&EQH HLX NASZEHM OISAE EXAMS
5,150, 340,000 5,150,340
ME A2 EXIAS 301,000 553,200 A 252,200
= 190,000
= 111,000
308 XXM S0 A 301,000 148,200 152,800
= 190,000
= 111,000
01 IXNHHBNEES 301,000 148,200 152,800
OdEH e M= EXIAS 247,000,000 247,000
= 190,000
< 57,000




SN JBEYZHDY
dM: GAHEE 25
& MEd B (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QdEiHnE AMS(OtAE, HXE &) E XA
e 48,000,000 48,000
OMEIHnE sS2(ha, =22 S) EXAMY
6,000,000 6,000
SANMENSAI AL (MEAIY) 504,000 252,700 251,300
403 MHXSHHSA=0l& 504,000 252,700 251,300
01 X HHMA=2LE L 504,000 252,700 251,300
O0l&h &aotel XADEE ZAAY 292,500,000 292,500
O&Eota el MAOY =4 Ak 211,500,000 211,500
MENH wetME & XIAF (S XEX) 60,000 0 60,000
= 30,000
= 30,000
201 Let2d] 60,000 0 60,000
= 30,000
< 30,000
01 At 2teltl 60,000 0 60,000
OLeHdE O 2EXA ZHelAY
40,000,000 40,000
= 20,000
< 20,000
Og27el sRgae] AlgAY
20,000, 000 20,000
= 10,000
< 10,000
HASAEH - 0| EANE =4 65,000 0 65,000
(NE ZRMEITAZ 2228 )(MEAY)
403 XM SA=0l& 65,000 0 65,000
01 X SHMA=E X 65,000 0 65,000
ONE ZFJHEHEAIZ 2228 65,000,000 65,000
HASAEH - 0l EANE =4 195,000 0 195,000
(S &= MEIELAE 1) (HEAY)
403 A X EHHS 20l A 195,000 0 195,000
01 X ESHHMA=LE XL 195,000 0 195,000
Oz4h &2l MEEZAIE X 195,000,000 195,000
SHELE ME=E =S 3AY 338,571 0 338,571
= 300,000
< 38,571
403 X SHHSA=0l& 338,571 0 338,571
= 300,000
< 38,571
01 AXSHMA=2E X 338,571 0 338,571
OnEgt SH YHS(S=IY) 2BAY
338,571,000 338,571
= 300,000




FMN: =S ZEAY
dM: GAHEE 25
Sel: KelEE 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 38,571
A BI2P] MEEZY 22 Y IHIT KA 144,500 0 144,500
403 UHXSHHSA=0l& 144,500 0 144,500
01 X SHHM U422 L 144,500 0 144,500
Soh gRe| MEEd S € EF32 oo
(ZQ&EN) 144,500,000 144,500
M=K MEHMEANE ZHAY 100,000 0 100,000
403 XIS E X201 & 100,000 0 100,000
01 X SHHX2E = 100,000 0 100,000
O2LEM=X MEAMEAE ZLHAY
100,000,000 100,000
HE2IZHOIZF&EI ) 63,274 818 A 28,544
U082 63,274 818 N 28,544
2AH(OIFS#EEH) 63,274 818 N 28,544
201 LBt 27,200 ,400 A 14,200
01 At 22l 27,200 ,400 214,200
OJIEsdEH J2FH(H&EZ)
27,200,000 27,200
202 o4dl 26,384 , 158 N13,774
01 = LH o4 1l 26,384 , 158 N13,774
OIISSAHY 2T (HAMED)
26,384,000 26,384
203 R =&t 9,690 ,260 A570
01 1228 =4 6,270 ,270 0
O (0eEZ) 6,270,000 6,270
04 EA2I YR 3,420 ,990 A570
OJIEsZEHU (0 E2) 3,420,000 3,420




